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T tost the STLLIAC output and input
particularly the >unch and reader.

4-level characiers are output and input
slternately, 1n cycles of ten aroups, thus:

OQut put Tnput
15t grou 0123456789 O
2nd EEORY oNFFLO42 12
3ra 34567 30K 345
Zth SHIFLOY 6789
5t 1 234567 KSNJ F
Ot h 89KSN 101234
/th JFLO 56789KS
6th 123 NJFLO12 3
9th 45 456789K3N
10th 6 JFLO123456

In aadition, two erases are punched
after each group of characters output. These
test the skipping of Sth-hole characters by
the 30-—- input orders, and also provide
regions of a lower temsile strength than would
norwally occur on an input tape.

_ As cach group of characters is imput 1t
is tested, Any variation from the input
gycle‘causes a gtop, on 203L5. The output
is switched to printer and a Black Switch
start brints out (1) a word whose rightmost
digits contain the actual input and (2) a
word whose rightmost digits contain the
correct input. The prinmtout stops on 24316,

and ifﬁt;e output is switched back to punch a
Black 3Bwitch start will resume the test.

_lelmwing the bootstrap input, a le
consisting of eight output Eyclﬁs,’is reader,
autmmai;cally punched, and the program stops

on 2413rF, The leader is inserted in the

reader, and a Black Switch start begina the test.
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Bootstrap

Constants
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Input and store
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£0 3F7 from FN
g2 000) by 3F6/3F9
from 3Fk

82 000) by 3IF
frum

from 3L5

éKLG

Dy 3*L /3L8
’D:{ 3L0 /316

1 40 3N3 TS5 3F0
%‘gz 40 3F0 L0 3N4
3F3 36 3L L3 383
P4 36 3T5

SF 000
3F5 16 007 40 000
ir6 L5 3N5
7 (L5 000
WPy 92 3N5 LS 3F7
P9 L4 3B 40 3PT
3Pk L0 W7 36 3FT
3FS L 000 00 007
PN 40 000 36 3T6
3] 24 3RF 00 000
3FF 15 3N 40 3LA
3L 19 024 42 312
L0 L5 36 42 3L3
3L1 (L5 000
32 g2 35 | 81EOOO
3037 40001, 10( 000
3L4 40 002 L3 002
35 36 3L6 |

20 3LS
36 5 3L3 42 313
LT 19 024 L4 3I2
31 L4 3N8 40 3L
3K L0 37 36 311
3L3 26 3FF 33

2.6,

Sum correct?

Stop. Sun failure.
Set number of cycles
in leader.

Punch leader.

End of cycle?
End of leader?

Stop, to insert leader
in reader.

Set up variable
addreases in test
routine.

Output-input-test
routine,

Input correct?

srror stop. Black
switech to error
printout.

Modify variable
addresses 1in
tesat routine.

fnd of cycle?
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BError priutoum.

Stop . 21ack switch
to resune regt.

2xit from
vootatrap.
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